X1V

Art#
M1144
M1204
M1204
M1204
M1215
M1422
M1422
M1432
M1432
M1432
M1434
M1494
M1485
M1582
M1582
M1582
M1584

M19444
M1844B
M1944C
M1844D
M1S44E
M1944F
M1845
M1848
M1847

M1948
M1845
M1850

M1851
M1852

M1853

M1954
M3530
M3831
M3720
M3T40
M37E0
M4146
MS000
ME010
ME010
ME011
ME011
ME012
MBE013
ME167

Index By Article Number
Article numbers beginning with “M" start on page XIf,

Description

Cupboard Lock, 2° and 2-1/2°

Rim Lock Only, AP or OP
Rim Lock with 1550 Knobs
Rim Lock with 3056 Knobs
Martice Lock

Drawer Lock, 2°

Drawer Lock, 2.5

Drawar Lock, 2°

Drawer Lock, 2.5"

Drawer Lock, 37

Drawer Lock, 3°

Keyhole Escuicheon
Keyhols Escutcheon
Cupboard Lock, 2°
Cupboard Lock, 2,57
Cupbeard Lock, 3°
Cupboard Lock, 3°

Privacy Mortice Bolt. 1-3/8"
Privacy Mortice Bolt, 1-3/4"
Privacy Mortice Bolt, 2-1/4"
Privacy Mortice Bolt, 2-3/8"
Privacy Mortice Bolt, 2-1/2"
Privacy Mortice Bolt, 2-3/4"
Ball Catch

Roller Catch

Cover Plate,

Oni Phone, Cable

Caover Plate,

One Block Duplex/GFI
Caver Plate,

Two Block Duplax/GFI
Cover Plate, One Toggle,
One Block Duplex/GFI
Gata Latch Keeper
Cover Plate,

One Toggle, Two Duplex
Cover Plate, Two Toggle,
One Block Duplex/GFI
Cover Plate, Four Duplex

Pull Handie
Pull Handbe

Privacy Tubular Mortice Lateh
Privacy Tubular Mortice Latch

Privacy Mortice Latch
Kick Plate, 36% x 687
Special Faollower (Installed)
Wood Plug, 1-3/8"

Wood Plug, 1-3/4"
Kirkpatrick Spindle, 3"
Kirkpatrick Spindle, 5"
Dummy Spindle

Dummy Plate

Push Plate

ol  Page

EE SRR EEEEEEERE R EE R EEEE RN

‘EEEEEEREEE R RN R

106
103
103
103
a5
107
107
107
107
107
107
149
19
106
106
106
106
102
102
102
102
102
102
514
514

47
47
m
1™
101

105
105
105
105
105
105
105
45

Art#
MEBES
MBET0
MB&T1
MBST2
MEET3

Description

Push Plate

Vertical Padlock Bar
Haorizontal Padiock Bar
Touch Up Paint, 1/4 pint
Marine Grease, 1/4 pint

222225

sg382§



